[bookmark: _GoBack][image: ]
image1.png
Jenson must practise the guitar for ¥ of an hour.
If he plays for %2 of an hour on Saturday morning and
another % of an hour on Saturday evening.

How many minutes does he need to practise on

‘ 'Sunday?

Raj eats ¥ of his 100g chocolate bar and Sarah
had #: of her 75g bar.

How many more grams has Raj eaten compared

Amy has 18 sweets and Fiona has 12 sweets.
Amy eats /5 of her sweets.
Fiona is allowed to eat the same number of sweets.

What fraction of her sweets can she eat?
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to Sarah? |O

Emma had 24 stickers.
She gave a quarter of them to her sister.
She then shared the remaining stickers
equally with her brother.

How many did Emma and he} er get each?





